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@ Midterm Review
1. Factor completely‘ 2x° +54 2. Factor: 3a’ - 6ab * a’b - 2b2 . |
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5. Decompose — s into partial fractions.
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6. Solve algebraically: 3x+2y-2z = -13 T,

S5x+3y—-2z = -11
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Unit 2
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Solve the following system using the following methods: 2% + Ty
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c. Matrix Equations
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Unit 3

12. Find the center and radius of (x - 5)* + (y +2)* = 25.
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13. Find the vertex, focus and directrix of the parabola (y-2)* = -2(x +5).
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15.  Write the equation of the hyperbola 9x* - 4y* — 54x - 40y - 55 = 0 in standard form and
find the following: '
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Unit 4

Find the reference angle for each of the following:
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17. Convert —— tfo degrees.
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18. Convert 300° to radians.
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19. Find the exact value of:

a. sin 240°
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If tan& = —~/5 and the terminal Slde of the angle lies in Quadrﬁﬂrg 11, find each value:

i i P T




Unit 5

21. In AABC,a=143cm., b=17.2 cm., and mZB =47°. Find mZA.
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Find the area of ADOG if d=83,0="71, and m£G =27°13".
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27. If A and B are both in quadrant I, csc A = %7— and sec B = - 3’ i:md the exact value of
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28. Evaluate: sin{x + 270°)
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31. Solve sin® 6 - 2sin8 = 3 for all values of x in the inferval 0 = 0 < 360°, rounding

answers to the nearest degree.




Unit 7
32.  Given the points A(-2,7) and B(4,5),

a. erte AB as an ordered pair. b.
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c. Write AB as the sum of unit vectors.
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33.  Ifc=2a-3b,find ¢ if a=(-1,4) and b =(-3,-5).

34.  Find the inner product of (-2,8) and (12,3). Are the vectors perpendicular?
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35. Write 2x - 7y =11 in parametric form.
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36.  Given the parametric equation x = 5¢ + 3 and y = — 2¢ — 1, rewrite the equation in

slope-intercept form.

8 o B e 3 i'
g i;*%’ Tt Ly fn et =gk T A
@';ﬁ T %} e - ‘E
b i :_FE - "Sﬁ = g

ot F 3 TR 5
Z ok E T i
=) Lo by
= H i
e i ap GET 13
i A ‘-;,%’, B P oo

"“\E‘. 4 = L
a8 £

=




37.  Find the magnitude and direction of the resultant. ‘
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38.  Josh comes up to bat with two outs in the bottom of the -rﬁnth inning. The pitcher throws
the ball and Josh swings when the ball is approximately 3.5 feet above the ground. He
hits the ball with an initial velocity of 130 feet per second at an angle of 25° above the

horizontal, The ball travels directly towards the center field wall, which is 10 feet high
and 380 feet away. Will the ball clear the fence for a homerun, or will the center fielder
be able to catch it? '
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